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Note ( For all problems, write three digits arthmetics rounding)

Q#1)(6 points) Consider the data
(1, (1), (1.2,£(1.2)),(1.3,f(1.3)) Where f(x)= Vx+2
Find Lagrange interpolation polynomial p,(x) and use it to estimate f(1.25)
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Q#2)(12 points)
(a) Considerthedata
(L), (14,f(1.4)),(1.8,£(1.8)),(2.2,f(2.2)) Where f(x)=+x+2
Find Newton interpolation polynomial p; (x) and use it to estimate f(1.25)
(b) Find the best upper bound for E; (x) above.
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Q1#3)(12 points) Consider the data
(1,-2),(2,2.5),(3,8)

() Derive the normal equations for the best fit of the form f(x) = % + Dx?
(b)Find €, D using the normal equations derived above and the given data.
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Q#4) (12 points) Find the curve fit f(x) = ji—p for the following data
(1,0.250), (2,0.286),(3,0.300) using a suitable Linearization




Q#5)(8 points) Find the clamped spline for the followmg data
(2,3),(4,7),(5,1), f@—Zf(S)—lO
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